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AlaywVIOMOG ZTaTIoOTIKAG 2025.

Questionnaire checking

A - ANUKELOKOG KOKAOG
1 - TeoT BACIKWY YVROEWV

Exkboyn: 1 NMuwooa: el

1. To 2024 o= ma xwpa, omwe Ty Kompo, 250 ywadec moAitec odnyolv autokivnto. O
EMOMEVOC TivaKac KaTaypddEal Ta TpoXald atuyHaTa Tou Eyvay Gt Xwpd auTr katd
o 2024, EeywploTd yia AvIpeg kAl yuvaikec obnyolcg, yld kaBe pia pépa Tnc
epdopadac.

In 2024, 250 thousand citizens of a country like Cyprus drove a car. The following
table records the traffic accidents in this country during 2024, separately for male
and female drivers, for each day of the week.

Awbpec/Men | NuvaikegWomen | Zovoho/Total
Kuplakn/Sunday 605 379 984
Asvutepa/Monday 488 301 789
Tpitn/Tuesday 501 314 815
Tetaptn/Mednesday 488 301 789
Nepmn/Thurstday 514 314 828
Napaokeun/Friday 592 366 958
20PBato/Saturday 683 405 1088
Zovoho/Total 3871 2380 6251

EmAgyetal oty TOXN £vac/pia odnyoc. H mbavotnta o/n odnyodc va sival yuvaika kol va
EXEL EUTTAOKEL O TpoYaio atuynua oe kamolo cappatokuplako (Zafpato ) Kuplakn) tou
2024 eivar

A driver is selected at random. The probability that the driver is female and has been
involved in a traffic accident on a weekend (Saturday or Sunday) in 2024 is:

A: 0,0015

B: 0,0602
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A: 0,0082

Mo kédTw Tapovaddovtal ot Babpol (pe péyoto To 100) mou THpav oe &va Slaywviagps
yiampoohnlin oto dnuoacio ot Siaywvilopevol uttoifdioL

Below are presented the scores (with a maximum of 100) obtained by the competing
candidates in a public sector recruitment competition.
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Mpw TV avakoivwan Twy amoTeAeopdtwy amodadionke n emsfepyadia Toug
XPNOLHOTIOWIVTAC TNV guvdptnon v = ax + b €101 wote Ta TeAka anoteAéopara va
EXOUV UECO Opo PIKPOTEpRD KaTd 10% amd Ta apXlkd Kol TUTILKI) amokALon va eival
auénuévn katd 20%. H pabpoioyia petd tnv enefepyaoia kamolou umolidiou e
apyikn pabuohoyia 70 Ba sivart:

Before the results were announced, it was decided to process them using the
functiony = ax + b, sothatthe finalresults would have an average of 10% lower than
the original results and a standard deviation of 20% higher. The score after processing
for a candidate with an initial score of 70 would be:

- 61

: 60

58




3. O Maplog mipe TECOEPEIC TAVOUOLOTUTIES EUXETNPIEC KAPTEC y1a TA XPLOTOUYEWVVA Kal
TO VEO E£TOC YIOL VA TIC amooTeidel o8 TEaosplc didouc Tou. Ze kdbe kdpta sypalbe
fexwplotéc euyéc. MNhpe ot guvexela TEcoepelc iBlouc dakéhou kal Eypale o KADE
Eva dhaksho Tnv Tayudpopikn Sie0Buvan yua kabe éva amo Toud gikouc Tou. AugTuywE
DEV TIC TAXUDPOUNGCE 0 (BLoC, AAAA TNV ETTOUEVN PHEPO TIAPAKAAECE TNV LNTEPC TOL va
TIc Taxudpopfasl. H untépa tou BASTOVTAC OTL OL KAPTEC ATav (B1ec £faie atnv TUXN
TIC KAPTEC HEOA OTouC GAKEAOUC Kal TIC Tayudpopunas. H mBavotnTa Touhdaylotov
Evac Gpakeloc va TIEPLEXEL TN CWOTH KAPTA sival:

Marios took four identical Christmas and New Year greeting cards to send to four
friends. He wrote different wishes on each card. He then took four identical
envelopes and wrote the four postal addresses of his friends, one on each envelope.
Unfortunately, he did not mail them himself, but he asked his mother to mail them
the next day. Seeing that the cards were identical, his mother randomly placed the
cards in the envelopes and mailed them. The probability that at least one envelope
contains the correct card is:
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4, Emiéystal éva tuyaio onueio I o8 TeTpdywvo ABTA TMAsupdc 3cm. Av kKaBe anueio
OTO TETPAyWVO ETIAEYETAL e TNV 16a mbavétnta, n mbavetnta 1o eyfaddv Tou
tetpamievpou ABEA va elval peyahltepo amd 4 cm? sivat:

A random point 5 is chosen in a square ABCD of side length 3em. If each pointin the
square is selected with equal probability, the probability that the area of the
guadrilateral ABSD is greater than 4 cm? is:




0,6

5. Kamolog opiel Tuxaia Toug CUVIEAEGTEG £, g Kl £ TNE EEIGWANE ToU KUKAOU
x+yi+2gx+2fy+c=0
eTAEyovTag aképaleg TiHEC WG eENG g €[-3,2], f e [-2,3]kac € [1,6].
H mBavotnta o kikhoc mou oxnuatidetal va BplokeTal oTo MPWwIo TETAPTNHOpLo sival
(o1 BeTikoi nuuagoveg mepthaufavovTal OTo TpWTo TETApTNUOALD):

Someone randomly assigns the coefficients ., g and ¢ of the equation of the circle
x*+yi+2gx+2fy+e=0

by choosing integer values as follows: g € [-3,2] , fe[—-2,3],andc € [1,6]. The

probability that the resulting circle is in the first quadrant is (the positive x and y axes

are included in the first quadrant):
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6. Eva madiko malh mephapfavel 16 kOfouc ol omoiol av TomoBsTnBolv GWOTA g8 pla
olataén 4x4 SnuwoupyolvTal elovee Zwwy. Td amoomdoparta Twy EKOVWY oTic 6
£8pec kABe kUPoU Elval TOTTOBETNUEVA £TAL LIOTE PHOVO LA
ElkOvVa va oynuatidetal o kaBe opbr) tomoBEtnon. Eva 'W : /
Tadakt emAéyel otnv TUXn 2 KUPouc. H mBavotnta ot 4~ 9

. . . p . . S v
emheypevol kKOBol va eival dladoyikol pag elkovag evog : .J‘.__:,.‘
CUYKEKPIUEVOU {Wwou amod Td Jwa Tou anelkovidel To mah .!;’:'. E".:': .
slvat: -

A children's puzzle contains 16 cubes, which create pictures of animals if placed
correctly in a 4x4 arrangement. The fragments of the images on the 6 faces of each
cube are arranged so that only one picture is formed in each correct placement. A
child randomly selects 2 cubes. The probability that the chosen cubes are
consecutive pictures of a specific animal from the animals depicted in the puzzle is:

A: 0,10

B: 0,17

I 0,25

A: 0,20




7. Eotw A kot B Suo eveyopeva Tou idou Selyuatikol ¥wpou yid Ta omoia divetal o1
P(A|B)=p, P(A|B)=gq kal P(EB|A)=r

H mBavotnta P(B) eivau

Let A and B be two possibilities of the same sample space for which it is given that:
P(AlB)=p, P(AIB)=q xal P(BlA)=r

The probability P(B) is equal to:
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8. Emiéyoups Tuyain, ywpic emavabeo, TpEC aplBuolc x, v, = amd To GUVoAo
A =1{1,23,...,100}. HmBavotnta va woxlel x < y < z elvac
We randomly select, without replacement, three numbers x,v,z from the set
A=1{1,23,...,100}. The probability that x < v < zis:
A.
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9. Eva koutl mepiExsl duo vopicpata. To éva sival kavoviko | n pia olin Kopwva kat n

(S

aiin Mpappota) kawto dhho Exel <M pappatas kol otic duo oieic. EmAéyeTal Tuyaia éva
VOULGHA amd To KouTi kal piyvetal duo dopéc. H mBavétnta kol ol duo pibewc va
dEpouv evBelfn «[pauypatar sival:

A box contains two coins. One is normal (one side has heads and the other has tails),
and the other has “tails” on both sides. A coin is randomly selected from the box and
tossed twice. The probability that both tosses will show “tails” is:
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10. Tpeic cakoULAEC TEQLEXOUY OUDIEC UTTAAEC XPUIPATOC JTTAE 1) AOTTpoUL we eENC:

¢  Hmpuwtn cakouAa meplEYEL 35 UmAE kat 15 AoTipec.

s H de0tepn cakoLha meplexel 42 pumhe kol 38 Aompec.

¢ Htpitn cokotha mepigyel 27 umhe ko 48 dompec.
MpwraemALyeETal Hia oakoUAC KaL OTN UVEXELA SUO UTTAAEC, N LA META TNV AAAN, amo
TNV eMAsyUEVN oakoDAd, Ywpic emavadson. H emhoyn Tnc cakouAag yivetal agou
Tpwta pbel va Zdpl Av n évdelén elvan o aplBpoc 1 eTUASYETAL N TTRWTH cakoLAa,
av n evaelfn eival TpwTog aplBuoc emAEyETAlL | SEUTEPN CakoUAd. Z& KABE dAAn
TMEpIMTWon eMAEyeTaL N TpiTn cakoLAa. H mBavoTnTa ol eTmAsyUEVES UTICAEC v Eival
SladopeTIKOL ¥pulpdatod eival:

Three bags contain identical blue or white balls:

* The first bag contains 35 blue and 15 white.

* The second bag contains 42 blue and 38 white.

+ The third bag contains 27 blue and 48 white.
First, a bag is selected, and then two balls are selected, one after the other, from the
chosen bag, without replacement. The bag is selected after rolling a die. If the
indication is the number 1, the first bag is selected; if the indication is a prime
number, the second bag is selected. In all other cases, the third bag is selected. The
probability that the selected balls are of different colours is:

0,5

0,35

I 0,48

A:0,24




